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d. The fundamental period of To of x(t) is T and wo=211/T0o=2
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Thus, the complex Fourier coefficients for cos4t + sin 6t are
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a,,=2Re[c,;,]=0,m#0

@yme1=2Re[cy ] =(—-1)" by =—2Im[c,]=0

(Zm+1)m
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Note that x(t) is even; thus x(t) contains only a dc term and
cosine terms.
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a. I'a x[n]<->x[n-nol, to 2° pédog => xX[n-no-1]+x[n-no+1]
[a n<->n-no, y[n-no|= X[n-no-1]+x[n-no+1]j
Apa givat xpovika apetdaBAnta.
b. I'a x[n]<->xX[n-no|], 10 2° pPélog => ax[n—ng—1] +
x[n—ny+ 1]
a n<->n-no, y[n — ny] = a® ™x[n —ny — 1] + x[n — ny, + 1]
Apa bev eival xpovika apetaBAnta.

V(a x;[n] + B - xz[n]) = a-x;[n] + B xz[n] —a-x;[n —1] = B - x3[n - 1]
=a- (x[n] —xi[n—1D + B - (xe2[n] —x2[n —1]) = a - y1[n] + B - y2[n]

Apa eivatl ypappiko.

y[n] = V(x[n]) = x[n] —x[n —1]

I'a x[n]<->x[n-no|, to 2° pedog => X[n-no|+x[n-no-1]

['a n<->n-no, y[n-no|= x[n-no]+x[n-no-1]j

Apa sivat xpovika apetdafAnta.



